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. (1) General (2) Current . . (4) Achievers
Section Awareness Affairs (3) Life Skills Section
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Marks per Ques. 1 1 1 3
SYLLABUS

Plants and Animals, India and the World, Science and Technology, Earth and Its Environment, Universe, Language and Literature, Entertainment,

Social Studies, Sports, Quantitative Aptitude and Reasoning, Current Affairs, Life Skills (Empathy, Effective Communication, Critical Thinking,
Creative Thinking, Coping with Stress, Decision Making, Problem Solving, Interpersonal Skills, Managing Emotions, Self-awareness).
Achievers Section : Higher Order Thinking Questions from the above given Syllabus.

1. Identify the given award name and the field in (C) Pargat Singh
which it is given. (D) Milkha Singh
The headquarters of WHO is located in .
\ (A) London, England
al | (B) Geneva, Switzerland
—\_, (C) Brisbane, Australia
w (D) Madrid, Spain
(A) Param Vir Chakra-Highest Military Award
(B) Major Dhyan Chand Khel Ratna Award- f %# G, g *
Award for Lifetime Achievement in Sports
and Games What is a common character of the above shown
(C) Sahitya Akademi Award-Literary Honour animals?
given for Outstanding Work in Literature (A) They all live in water.
(D) None of these (B) They all lack backbone.
] ] , (C) They all have scales on their body.
2.  Which part of the flower turns into fruit? (D) They all lay eggs to reproduce.
(A) Ovary
(B) Ovules Seismograph is associated with which of the
(C) Petal following natural calamities?
(D) Corolla (A) Tornado
3. Which of the following is/are biodegradable? (B) Earthquake
(A) The food we eat (C) Flood
(B) The peel of fruits and vegetables (D) Dengue
(C) Jute bag How many active players are there in the
(D) All of these basketball court from each team at a time?
4. Who among the following was nick named (A) 11
‘Flying Sikh’ by General Ayub Khan? (B) 6
(A) Jawaharlal Nehru (C) 5
(B) Sardar Patel (D) 7
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ACHIEVERS SECTION

9. lIdentify the name of the given yogasana. 10. Which of the following statements is true?

(i) The least number which should be added
to 2497 so that the sum is exactly divisible
by 3, 4, 5 and 6 is 23.

(i) 52168 is divisible by 11.

(A) Both (i) and (ii)

(B) Only (i)
(A) Tadasana (B) Halasana (C) Only (i)
(C) Pranayama (D) Bhujangasana (D) Neither (i) nor (ii)
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